SP-VI/ZOOG/SEC-4/23

B.Sc. 6th Semester (General) Examination, 2023 (CBCS)
Subject : Zoology
Course : SEC-4
(Community Nutrition and Health Statics)

Time: 2 Hours Full Marks: 40
u Wi 5.

The figures in the margin indicate full merks.

Candidates are required to give their answers in their own words
as far as practicable.
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I. Answer any five questions of the following:
(@) What is null hypothesis?
Null hypothesis =7 & a2
(b) What is endemic disease? Give example.
Endemic disease 9=7€ F1 (=27 Twizad wie |

(¢c) Write the difference between natality and mortality.

TALR € LA AL Al |
(d) What is communicable disease?
HIZETE (15 T B AT 2

(¢) What is Zoonolic disease”

Geloe (F19 FETCS F Ay
(1) What is malnutrition?
TAfR a1 A
Differentiate between mean and mode,
Mean 972 Mode-£% TSR 1< z0ar|

Siate the formula of Chi-square test.
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Chi-square test-44 szl (A
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= Answer amv nvo questions of the following:
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(@) Write short notes on correlation and regression.
e e Framiera S G
(b) Write » note on bar diagram.
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(c) State the symptoms and preventive measures of tuberculosis. 2vat2le
TH QM 7w ¢ aferary ag HeAE E#

(d) What do you mean by conditional probability”

Ffesimie carafa® B e A caran?
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3. Answer any nvo questions of the following: 10x2=20
(T (] AiD orie Tag we o
(a) What is pandemic disease? Describe pandemic disease with suitable cxample. 2+8
wfenfa carsl v Sz wwnm wfona e o =i (e

(b) Describe the descriptive and analytical epidemological methods.
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(¢) Discuss various biochemical parameters used for nutritional status assessment Write the
advantages and disadvantages of biochemical parameters, 641
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(d) Write about cultural and economica] community,
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Cultural 992 Economical community H=wjre (=02 |
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